Resonance

Product branching fraction
(10~°)

Branching fraction
(107

K*(892)°
K*(1410)°
LASS nonresonant
K(1430)°

LASS total
I?* 5(1430)°

28.6£0.6+0.7+:0.9£4.2
1.7+£0.5+£02+1.4£0.2
13.7£25+£1.5+4.1+2.0
200+£1.6+£0.7£3.3£2.9
2144+14+1.0+£4.7+£3.1
3.7£06+£04+£1.1+£0.5
< 2.0 (2.4)
<3.7(4.1)
< 0.33 (0.38)
< 0.21 (0.24)

4.294+0.09£0.114+0.14£0.63
3.86+1.14+£0.45£3.18+0.89
2.06£0.38+0.23 £0.62+0.30
3.00£0.244+0.11£0.50+0.44
3.214+0.21£0.15+£0.71 +£0.47
1.11+£0.18£0.124+£0.33+£0.15
< 0.78 (0.93)
<1.1(1.2)
< 0.26 (0.30)
< 0.31 (0.36)

25.7+£0.7£0.8£1.1£3.8
1.6+£04+04+£05+0.2
5.0£1.2+£0.7+£3.3+£0.7
22+£01+£03+044+0.3




